8590299698920 Qr0AIGDD5:

3. 5. 3095J8ddd

GNsvNdo

bodoboggmmb Lub  wmdsmmgbo @s LsBmorre  Ldgczos-
ereéan gobsmmgdol LeBobob@bmd osddgos edbdady

Lobyeddmzebyrrme dmbodboydgemo aobymmomadols
dL3gbgemgdobs o oBodymbagbBndolomgob.

309MIBIILMBY ,,d60NTId0«
EROTCOLO ~ 1985



OaMBOEINL daMELENL 603'TVI20 QO™ bd3SARNTBMIZN
(0IISAMROE53N030L bLOBIAISRIBN)

1. Gogagghes badgnobgoolb gagbee a=06+ 1072 3-0s, dob Fgghm-
9080 dmomoglgdymos  ¢=6-10"%y4, ga=g3=—8-10"%4 dmbAgdo.
30303ma darob Logowg o Bo@b@m@qmgéa, dreadgeog 3m]dggsl Lad-
dnobgob 39b@éTo  dmmozbgduyem  g=6,67 - 1079 gmemb  dnba by
(bybs. 171).

oam'bbgo

Iy gp=6-10"7 4
gy = gz=—8-10""4
g=6,67-10"" 4 &=1
a=6:106"% B,

12 3°
80:8,85' 10 6,82

Fles
g 3mbyby dmJdgoo dogme Bmemos

- =

Fy, Fy @ Fy dormghob ggdaymén-
o ;(oaobo'

V

-

F:F1+F2+F3‘ (1)
) F=F4F, (2)
80Fab:
I (3)
doghod F (oo F’ dogmgdo 960 dodobrormemgdoboo, Sdodma,
Frp o B, (4)
Limébrooogosh hobl, bma: |
F=V F+F +2F,F;-cosa . (5)
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o= 120°,l 2do)md,

cos 120° = — sin 30° = — 0,5. (6)
q-19,l

Fo=Fy = ——223 _ (7
5 " 4m.e,-BO? )

AB a

V3 V3

80dob:

Fodfi 39 - |g4| (8)

47 g, a?

(6) o (8) dg30¢0bmo (5)-Fo  a39469%0:

]/ (39' [45 ) (361 LUK R 0L
4 e a? 4ne, at 4neyal

E. s q- q Dl (10)
4ney AO? 4 e, q?
(9) 0o (10) Yggo¢ebmo (4)-To, 230369%e:
3¢:-9 39 [g:] 3q -
F = 1 — = == — .
4ne,a® 4 4 1 gy a2 4nea® @it Il
sdhogoe dogopgom, bmd:
3q :
F= ——— (g . 11
Py (@, + gD (11)

(11)-9o bogbgomo 360830gmmdgdols habids > gedmmgs agedmggb:
F=17:10"46.

F dogms dodetborgyemos BC Flgyol dobrormdummaco.

2. 390¢0gwnhap dedsbogr ghoggahngst gradebace 39w,
Godmol ododymmds 2 - 104 3/3-05, gofmbobfmbgdmmos 10-15 4a Bo-
Lob odpb@nme  boffogmogo. Befommogds  ogoge gboo gmgddhmbols
Gmero dgbdo. wodpgbon vbps geobobpmb ggmmol sdodmmmds, hmd
baforrogo FmbolffmbmdeBo @obbhgl? (Lnb. 172).
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odmblbo

b
dog:  Ep=2.102=2.10'—
d 4 YL G e TRER i
Hi==107" 38 _E_,,_
—lel=1.6-10—1° e
q“IE'—1,6 10 3 iF; 1
9=, — ¢
2 ‘ @
AE:Eﬂ"—El=9 r
Bofogmogol Fmbobfmébmdobemgols |
Bogb0d by dmdne groddenere
dogpo
F,=qy-E,, (2) bné. 172
3536 (1) Gmermds dmgg3gdl:
¢ £, = mg. (3)

dmbdob gdiobgdel Bgrggore  Febolfmbmdobsegol - a3936gde (3)
Aoermdol dbgogho Gmermde: gs « Ey=mg, boopsby

P div—49g
(3)-wob
mg
o . (5)
9, E,
Ug0¢0bmo gb (4)-To, a397bgde:
mg mg E,
E,ls= g ; 6
g mg—qkE, (6)
q
E,
390l ododmmmdol bododo
AE=E,—FE, = __’1‘_&&__“512
mg —q E,
ComgE emgli-g 8 09BN
mg —q.E, mg —q E,
2dbogog, dogomgm:
- TG, o D (7)
mg —q-E,
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(7)-To rogbgomo. 36093bgemmdgdol holids oo goBmmges 3gedemgal:
AE=9,4. 103—583~f :

3. 43°0bo@ob mb dgbmdger F39ébmTo dmamsglgdmeros g1=2 - 1078 4
@ ga=—2+1078 4 JbEgoo. a0blsbmgbge g9emol ododumermds 43°0-
bopol ©obobhgb mb Fa9bmTo, oy 48o0bodol a3ghee a=2- 10‘2 d
(L. 173).

odmblbo

dnp.: AB=BC =CD = AD—a—2 10-279
gy =2-10"%4
Qg=-—+2-10"% 3

s 1a-12 _d
g = 8,85-10 .3

2

51‘, f(:

Lgb. 173
C Fabdoeido gomob @edsdnmmds Gomos g1 ©3 gz ambéabnb goerob
Qodo?}l@@még?xob 30JGabnero godobo:

‘ E,=E,+E,. <
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{361.@01 39ob Qopdo&ﬂ meadob 3 QO (M0

E,—~YEB FE 1 9E F, cosety. | (2)
Lntomogoeb hobl, Gmd @y = 135°, odo@md cosa; = cos 135°=-—sin 45°.
cos &ty == —sin45° =-—0,7. (3)
91
E, = ' 4
‘ ' dme,e- AC? @
Lmbrooopsb hobl, &md AC2=AD?>1+L DC?=a?+ a® = 2al.
: ALS = 2 g% (5)
(5) (8330@06,0’10’) (4)-To, 3)8!33636‘):
4 ;
£y = AR 6
; 4rey e-2a® ; 0
E2 il IQQI . L lq2l ; ¥ (7)
4neg,eBC dnee-a

(3), (6) o (7) Bggo¢ysbme (2)-Fo, a39469de:

E :'/(___q_l_s)z_;_ (L)2;1’4 91192 _
A ‘o Ndme e 28R \ 4ag en? 4neye- 2a® - 4ngye- a®

| (8)
©ogeb g1=[gs|, ©do@ymd (8) BHmmmds obge Lobgl Foomgdl:
E_‘/ SR BT W
Yy 64 (m &, ea?)? 16 (1 &, € ?)? 32 (n gy e a??
] q% S i a0 1/ 2’2_#
i l/ 64 (1t &, £ a%)? (- 28 &= 8neg,ea
odbogog, dogomga:
V2,2 g,
B= mmeat .
sbommponbop, D Fabdormdo ggmol @odadmmmds 076580
E4=VE52 o Ef +2E; - E, - cosa,, (10) -
/ 19,]
E, = 2 ; 11
i 4me e-2a? G
’ (h
Ei=—)". 12
ol 4 g, - € a? (12
a, = 135°, ododmd cos a, = cos 135° = — sin 45° = — 0,7.
d0d0b (10) Amermds dmagagol bnlidae (9) Gmermdab:
E, - V22 -4, _ E,. (13)

8” 80 &€ (12
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